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PLANE AND STRAIGHT LINE IN SPACE

lllustration

1. Find the equation of the plane through the points
A(2,2, — 1), B(3,4,2)andC(7,0,6.)

A bz +2y+ 32 =17

B.5z + 2y — 3z = 17

Chr —2y+3z2=17

D. none of these

Answer: B


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_k5oxU7jkyPBY

° Watch Video Solution

2. Write the equation of the plane whose intercepts on the coordinate

axes are —4, 2and3 respectively.

A3z + 6y + 4z = 12

B. —3x + 6y + 4z = 12

C.—3z — 6y — 4z = 12

D. none of these

Answer: B

o Watch Video Solution

3. The intercepts of the plane 5z — 3y + 62z — 60 = 0 on the coordinate

axes are

A. 10,20, — 10


https://dl.doubtnut.com/l/_k5oxU7jkyPBY
https://dl.doubtnut.com/l/_LHM5UeASXlWG
https://dl.doubtnut.com/l/_EKn7xt6IBFvj

B.10, — 20, 12

C.12, — 20,10
D.12,20, — 10
Answer: C

° Watch Video Solution

4. If the plane 7z + 11y 4+ 13z = 3003 meets the axes in AB and C then
the centorid of AABC'is

A. (143,91, 77)

B. (143, 77, 91)

C. (91, 143, 77)

D. (143, 66, 91)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_EKn7xt6IBFvj
https://dl.doubtnut.com/l/_LZoccJ3AoNba

5. A plane meets the coordinate axes in AB,C such that the centroid of
triangle ABC is the point (p, g, r). If the equation of the plane is

£+£+i:kthenk:
p q r

Al

B.2

C.3

D. none of these

Answer: C

o Watch Video Solution

6. The vector equation of a plane passing through a point having position

vector 27 + 3j — 4k and perpendicular to the vector 27 — 7 + 2k, is

AT (2%—3+2fc> =7


https://dl.doubtnut.com/l/_LZoccJ3AoNba
https://dl.doubtnut.com/l/_kTiJ7699UZqe
https://dl.doubtnut.com/l/_P1YOTXDzpaGn

B. 7. (2%—3+2fc> = -7
7. (2%—3+2l§::4

D. none of these

Answer: B

° Watch Video Solution

7.The vector equation of the plane which is at a distance of 8 units from

the origin which is normal to the vector 2 + 3 + 2k is

AT (2%+3’+2fc) — 8

24

B. 7. (2%+3‘+2ic)
7. (2%+3+2fc) _4

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_P1YOTXDzpaGn
https://dl.doubtnut.com/l/_txGQs16Ofjw5

8.The angle between the planes

7. (2%—3’+ic) — 6and 7. (%+3+2l§:) — 5is

®|S‘ <] w|§’ w3

Answer: A

o Watch Video Solution

9. Find the angle between the

x4+ y+ 2z =9dn2x —y+ z = 15.

w3y o3

planes


https://dl.doubtnut.com/l/_txGQs16Ofjw5
https://dl.doubtnut.com/l/_LO3KAzXMlSxA
https://dl.doubtnut.com/l/_avTcbmY95F17

c T
4

D. none of these

Answer: B

o Watch Video Solution

10. If the planes 7 . (22 5t 21%) — 4and 7. (3% v 25+ ,\12:) — 3are

perpendicular then A =

A2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_avTcbmY95F17
https://dl.doubtnut.com/l/_8u2bd8V04RGj
https://dl.doubtnut.com/l/_wA9PGoruxx2a

M. If the planes 2z —y+Az2—5=0 an x+4y+22—7=0 are

perpendicular then A =

Al

Answer: A

° Watch Video Solution

12. The acute angle between the planes 2x —y+ 2 =6 and

T+y+2z2=3is

A.45°

B.60°

C.30°


https://dl.doubtnut.com/l/_wA9PGoruxx2a
https://dl.doubtnut.com/l/_JkPvKYwojw8J

D.75°

Answer: B

° Watch Video Solution

13. In the space the equation by + cz+ d = 0 represents a plane

perpendicular to the plane

A.YOZ

B.ZOX

C. XOoy

D.Z =k

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_JkPvKYwojw8J
https://dl.doubtnut.com/l/_fv05f73DWVgv

14. The equation of the plane passing through the point (1,1, 1) and
perpendicular to the planes 2z +y — 2z = 5and 3z — 6y — 22 = Tis
Aldr +2y — 152 =1
B. 14z — 2y + 15z = 27
C. 14z + 2y + 15z = 31

D.— 14z + 2y + 152 = 3

Answer: C

o Watch Video Solution

15. Convert the equation of the plane
— o ~ o ~ 2 2 ~ 2 .
r:(z—g)—I—)\(—z+j+2k)+,u,<z—|—2j+k> into scalar

product form.

7

AT (5% Y. 31%)

B. 7. (5% v 25+ 312:) 7


https://dl.doubtnut.com/l/_ZKm60SbQhDmC
https://dl.doubtnut.com/l/_A8KcBaApZE04

7. (52—23—31%) — 7

D. none of these

Answer: A

° Watch Video Solution

16. The vector equation of the plane passing through the points

i4+j—2k2i—j+kandi+ j+kis

AT (9%+33—l§:) = —14
B. 7. (9%+33’—l}) — 14
7. (3%+93—ic) — 14

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_A8KcBaApZE04
https://dl.doubtnut.com/l/_LS255SCtFRVJ
https://dl.doubtnut.com/l/_C1WXaANf6wIY

17. The equation of plane passing through the point %+3+IA<: and

paralel to the plane 7. (2% — i+ 2l§:) =39is

AT (2%—3‘+2l}) —5

-3

B. 7. (2% —3‘+2l§:)
7. (2%—3‘+2l%) —3

D. none of these

Answer: C

o Watch Video Solution

18. Find the equation of the plane through the point (1,4,-2) and parallel

totheplane -2z +y— 32 = 7.

A2r —y+32=28

B.2z —y+324+8=0

C2x —y+32=4


https://dl.doubtnut.com/l/_C1WXaANf6wIY
https://dl.doubtnut.com/l/_zE0wY4iKwG70

D. none of these

Answer: B

° Watch Video Solution

19. The direction cosines of the line6z — 2 =3y + 1 = 2z — 2 are

1 3 2

A , ,
v14 /14 14
1 2 3

B. , ,
V4 V14 V14
3 2 1

“ Vi Vi v

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zE0wY4iKwG70
https://dl.doubtnut.com/l/_QaC7g4VSXwwM

20. The equation of a line passing through (1,-1,0) and parallel to

z—2_2y+1_5—z,
3 2 -1 °

z—1 y+1 z—0

3 3 —1
Bx—1:y+1:z—0
"3 1 -1
Cm—1:y+1:z—0
3 1 1
Dx—lzy—i—l:z—O
3 2 1

Answer: C

° Watch Video Solution

.oz —3 z—95
21.The line T = = cutstheplanex +y+ 2 = 17 at

A.(3,/4,5)
B. (4,6,7)

C.(4,58)



https://dl.doubtnut.com/l/_NgzVPSQh2QeF
https://dl.doubtnut.com/l/_oGLkjq3rdj9X

D. (8,4,5)

Answer: B

° Watch Video Solution

22. The distance between the point (3,4,5) and the point where the line

-3 —4 )
wl :y2 :z2 meets the planez + y + z = 17is

Al

B.2

C.3

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oGLkjq3rdj9X
https://dl.doubtnut.com/l/_SSWOLP3kUUZ9

23.The distance of the point (1, 0, 2) from the point of intersection of the
T — 2 Yy +1 z—2

3 1 = B and the plane xy + z =16, is : (1) 24/14 (2)

8 (3) 3v/21 (4) 27

line

A 3¢/21

B.13

C.21/14

D.8

Answer: B

o Watch Video Solution

24. Find the distance of the point (2,3,4) from the line

r+3 _y-2 2 d lel  to th |
3 = 6 = 2 measure para e (o] e pane
3z +2y+22—-5=0.

A.2


https://dl.doubtnut.com/l/_jHaQMuYv1gvA
https://dl.doubtnut.com/l/_FN6cPOsAc0D0

B.4

C.6

D.7

Answer: D

° Watch Video Solution

25. The distance of the point (1,-5,9) from the plane x-y+z = 5 measured

along thelinex=y=zis

A.3,/10

B.10,/3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_FN6cPOsAc0D0
https://dl.doubtnut.com/l/_bptcbIyNGsP1

26. The vector parallel to the line of intersection of the planes
7. (3% —3’+l§:) —1and 7. (%+4§'—21§:) — 2is:

A —2i + 77 + 13k

B.27 +7j — 13k

C.—2i — 7+ 13k

D.2i + 7] + 13k

Answer: A

o Watch Video Solution

27.The direction cosines of thelinex —y+ 22 =5,3x +y+ z = 6 are

L3 5 4
52 5v2 542
s 3 -5 4
52 5v2 542
c.3 5 4
5v2 5v2 542



https://dl.doubtnut.com/l/_bptcbIyNGsP1
https://dl.doubtnut.com/l/_tuNYhTicGSI1
https://dl.doubtnut.com/l/_gtFfZ62q5zpa

D. none of these

Answer: A

° Watch Video Solution

28. A symmetrical form of the line of intersection of the planes

x=ay+bandz=cy+dis

a 0 c
x—b y—0 z—d
B. = =
a 1 C
T —a y—0 z—c
C. p— p—
b 1 d

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gtFfZ62q5zpa
https://dl.doubtnut.com/l/_YyqQ8ElBJRcK

29. The angle between the lines
T = (%+3+l§:) +A(%+§'+2l§:)

and 7 = ('Z—F}'—FIQ)+,u{(—\/§—1)'2+(\/5—1)3+4I;;}is

o
c,\.,|l=\]:> w3 a3 ol

Answer: C

o Watch Video Solution

30. Find the angle between the lines
m—2_y—|—1_ _ 9 dm—1_2y+3_z+5

3 -2 ST M T T3 T T

A

=3 o3


https://dl.doubtnut.com/l/_YyDUSrceJyUN
https://dl.doubtnut.com/l/_12gt0LOCCh7a

c T
"2
5 iy
"3
Answer: C
o Watch Video Solution
31. Fid the condition if lines
z=ay+bz=cy+dandz =a'y+b',z=cy+d’ are

perpendicular.

Aaa +' =1

B.aa’ +cc’' = —1

Cab+cd=a’b’ +c’d’

D.aa’ +bb’ =cc’ +dd’

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_12gt0LOCCh7a
https://dl.doubtnut.com/l/_2X7gcP9PHgAl

32. If the lines 6br —2=3y+1=2z—-2 and
r—2 20 — 5
A =3

, 2 = — 2are perpendicular then A =

A3

B.2

D.1

Answer: A

° Watch Video Solution

) T Yy oz m—l_y—2_z—3
33.TheI|nesl—2—3and > T T4 — % are

A. coincident

B. skew

C.intersecting


https://dl.doubtnut.com/l/_2X7gcP9PHgAl
https://dl.doubtnut.com/l/_ImAMlBEZjbIi
https://dl.doubtnut.com/l/_GAjCESe1eHlJ

D. parallel

Answer: D

° Watch Video Solution

34. The angle

2 =3y= —zand 6x = —y=

A.0°

B.30°

C.45°

D.90°

Answer: D

between the lines

— 4z is (A) 0° (B) 90° (C) 45° (D) 30°

° Watch Video Solution



https://dl.doubtnut.com/l/_GAjCESe1eHlJ
https://dl.doubtnut.com/l/_WPO8sLVHldDf

35. The directionratios of the line which is perpendicular to the lines

- 17 +3 -
z 7:y—|— :z—ﬁand:v—|—5:y _Z 4

2 3 5 5 are (A) (4,5,7)

(B) (4’-597) (C) (4’-59-7) (D) (-4’5’7)

A. 4,57

B. 4,57

C. 4,57

D.— 4,57

Answer: A

o Watch Video Solution

36. The lines 1 — (2% — 37+ 71%) + )\<2% +pj + 51%) and
;

7 = ('Z + 23’ + 3l§:) + u<3 — p}' + plAc) are perpendicularitp =


https://dl.doubtnut.com/l/_Fr9nAY91Asgf
https://dl.doubtnut.com/l/_FEUu5ASjfDGE

C.2,3

D. none of these

Answer: B

° Watch Video Solution

37. The plane 2z — (1 + A)y + 3Az = 0 passes through the intersection
of the plane

A2z —y=0andy—3z2=0

B.2x +3z=0andy =0

C2zx —y+3z=0andy—32=0

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FEUu5ASjfDGE
https://dl.doubtnut.com/l/_ZUh5wJ4mxkMs
https://dl.doubtnut.com/l/_k2krlC6tX0zz

38. Find the equation of a plane passing through the intersection of the
planes 7 (% + 33 — l;:) =5 and 7) (2% — 3 + IA<:> =3 and passes

through the point (2,1, — 2).

8

AT (3%+23)
B. 7. (2% +33) =8
7. (3%+2§') +8=0

D. none of these

Answer: A

o Watch Video Solution

39. Find the equation of a plane containing the line of intersection of the
planes =z +y+ z — 6 = 0and2x + 3y + 4z + 5 = 0 passing through

(1,1,1).

A 20z + 23y + 26z — 69 = 0


https://dl.doubtnut.com/l/_k2krlC6tX0zz
https://dl.doubtnut.com/l/_0p6jZFBhgmsw

B. 20z + 26y + 23z — 69 = 0

Cz+y+2—3=0

D.2x +3y+42—-9=0

Answer: A

o Watch Video Solution

40. Find the equation of the plane which is perpendicular to the plane
5 + 3y + 6 z + 8 = 0 and which contains the line of intersection of the
planesx +2y+3z— 4 = 0and2z+y — 2+5 = 0

A 15z + 15y — 202 4+4 =0

B.51lx + 15y — 50z + 173 = 0

C3x—-by+7=0

D.3z +b5y —52+9=0

Answer: B

[ - 1


https://dl.doubtnut.com/l/_0p6jZFBhgmsw
https://dl.doubtnut.com/l/_ddP08HDUFwT2

| @J Watch Video Solution

41. If the equation of the plane through the line of interesection of

7. (2% — 33’ + lAs) =1 and 7 (5 — 3) + 4 = 0 and perpendicular to

7. (22+3+E)+8:0is7. (5%—23—121%) — AThen A =

A.47

B.-47

C.37

D.-37

Answer: A

o Watch Video Solution

42. The equation of the

2c —by+z=3z+y+4z=5

plane  containing the line

and parallel to the plane,


https://dl.doubtnut.com/l/_ddP08HDUFwT2
https://dl.doubtnut.com/l/_235u3L2XoELJ
https://dl.doubtnut.com/l/_11QH1d5o8Fv4

x+3y+6z=1,is:(1)2x+6y+122=132) x4+ 3y+ 6z = — 7 (3)

x+3y+6z=7(4)2z +6y+ 12z = — 13

Arz+3y+62=7

B.2z + 6y + 12z = — 13

C.2z + 6y + 122 = 13

Dz +3y+6z2=7

Answer: A

o Watch Video Solution

43. Distance between two parallel planes 2z +y+ 2z =8 and

dr + 2y + 4 +5—0'(1)5(2)7(3)9(4)3
TTeyTaz IR I I N )

w
[CYIEN B Y IS S T JT


https://dl.doubtnut.com/l/_11QH1d5o8Fv4
https://dl.doubtnut.com/l/_ipidTHQPzoLD

Answer: C

° Watch Video Solution

44. The equation of a plane passing through the line of intersection of
the planes x+2y+3z =2 and x y + z = 3 and at a distance 2 3 from the point

(3,1,1)is (A) 5x 1y +z=17 (B) 2xy321(C)x+y+z=3 (D) x2y 12

Abz —1ly+ 2 =17
B.v2z +y=3y2-1
Czt+y+z=,/3

D.z —2y=1—42

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ipidTHQPzoLD
https://dl.doubtnut.com/l/_4a1ZIwSGS44L
https://dl.doubtnut.com/l/_wEtoM564nZib

45.1n R3, consider the planes P;:y = 0and P,z + 2z = 1. Let P; bea
plane, different from P; and P, which passes through the intersection of
P; and P, If the distance of the point (0,1,0) from Pj is 1 and the distance
of a point («, 8, ) from Pj is 2, then which of the following relation(s)
is/are true?

A2+ p+2y+2=0

B.2a —B+2y+4=0

C2a+8—-2y—10=0

D.2a —B+2y—-8=38

Answer: B::D

o Watch Video Solution

46. Find the distance of the point (21,0) from the plane

2r +y+ 22+ 5=0.

AlO
"~ 3


https://dl.doubtnut.com/l/_wEtoM564nZib
https://dl.doubtnut.com/l/_PjXvSjG8rukK

D. none of these

Answer: A

o Watch Video Solution

47. The equation of the plane through the intersection of the planes
7. (2%—#63) +12=0 and 7 (3% —3’+4l§:> =0 and at a unit

distance from the origin, is

Answer: A

[ -


https://dl.doubtnut.com/l/_PjXvSjG8rukK
https://dl.doubtnut.com/l/_2EERLasXFnHY

| @ Watch Video Solution J

48. A variable plane is at a distance p from the origin O and meets the set
of rectangular axes OX;(i =1,2,3) at points A;(:=1,2,3)
respectively. If planes are drawn through A;, A5, A3 which are parallel to

the coordinate planes, then the locus of theri point of intersection is

1 1 1 1
B.—+—+—=—
T Y z b

1 1 1 B 1
C.§+y—2+§—ﬁ
1 1 1 B 1
D.§+y—3+§—g

Answer: C

o Watch Video Solution

49.The distance of the point (1,3, — 7) from the plane passing through

the point (1, — 1, — 1), having normal perpendicular to both the lines


https://dl.doubtnut.com/l/_2EERLasXFnHY
https://dl.doubtnut.com/l/_GXVkLQKXQZid
https://dl.doubtnut.com/l/_r3ulTU5dfrdA

z—1 Y+ 2 z—4 5
= = and :
1 —2 3 2 -1 -1 \/83

10 20 10

(3) —= @)
VT4 VT4 /83

20
A ——
V74

10
B. —
V83

10
cC.——
V74

5
D. ——
/83

Answer: B

o Watch Video Solution

50. Find the  distance  between the  parallel planes
2 —y+ 22+ 3 = 0anddx — 2y +4z+ 5= 0.

Al/3

B.2/6

c.2/3


https://dl.doubtnut.com/l/_r3ulTU5dfrdA
https://dl.doubtnut.com/l/_NTdaRKAsMYti

D. none of these

Answer: B

° Watch Video Solution

51. Find the distance between the parallel planes
7. (22: ~ 35+ 61}) — 5and

7. (6% — 95+ 1812) 420 = 0.

Wl Wk w|ot w|

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_NTdaRKAsMYti
https://dl.doubtnut.com/l/_XkGehNWyjCLj
https://dl.doubtnut.com/l/_lXeYHQQPtk0T

52.1f d, dy, d3 denote the distances of the plane 2z — 3y + 4z = 0 from
the planes 2z —3y+42+6=0 4x—-6y+8+3=0 and
2z — 3y + 4z — 6 = O respectively, then

Ady +8dy +d3s =0

B.d; + 16dy, =0

C. 8d2 — dl

D.d; — 2ds + 3d3 = /29

Answer: C

o Watch Video Solution

53. The distance of the point (1, — 2, 4) from the plane passing through
the point (1, 2,2) perpendicular to the planes z —y+ 2z =3 and

2¢ —2y+2+12=20is

1
A —

V2

B.2


https://dl.doubtnut.com/l/_lXeYHQQPtk0T
https://dl.doubtnut.com/l/_20rdHeXPmRhQ

C. V2
D. 2+/2

Answer: D

° Watch Video Solution

54. Find the length of the perpendicular from the point (1, 2, 3) to the

z—6 y—-7 2-7

line 3 5 —

A. 5 units

B. 7 units

C. 4 units

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_20rdHeXPmRhQ
https://dl.doubtnut.com/l/_sE4aA9xeBUdm
https://dl.doubtnut.com/l/_fzEwSVn9HNrh

55. The position vector of the foot of the perpendicular draw from the

point 27 — j + 5k to the line

7 = (11% Y. 81%) + ,\(10% 4 1112:) is

Ai+3)+ 2k
B.—i 4 3] — 2k
C.i—37—2k

D.% 4 27 + 3k

Answer: D

o Watch Video Solution

56. Find the image of the point (1,3,4) in the plane

2r —y+2+3=0.

A (3,5,2)

B.(—3,5,2)


https://dl.doubtnut.com/l/_fzEwSVn9HNrh
https://dl.doubtnut.com/l/_LVwzabxGcPaC

C.(3,5 —2)

D. (3, — 5, 2)

Answer: B

° Watch Video Solution

57. For all d,0 < d < 1, which one of the following points is the
reflection of the point (d, 2d, 3d) in the plane pasing through the points
(1,0,0), (0,1,0and (0,0,1)?
2 2 2
Al o — - —2d, - —
<3 3d, 3 d, 3 d)

B 1+3d2d1—|—
. 3 ,2d, 5 +e

C. (3d, 2d, d)

b. (% +d 2 _2d —~4d
\3FTh3 7% 73T

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_LVwzabxGcPaC
https://dl.doubtnut.com/l/_FEkcLvqDDMgX

58. Find the image of the point (1, 6, 3) in the line % = =

A. (11,7)
B. (0,1,7)
C.(1,0,7)

D. none of these

Answer: C

o Watch Video Solution

59. If the image of the point P(1, —2,3) in the plane
2z + 3y — 4z 4+ 22 = 0 measured parallel to the line, % — % — —is Q,

then PQ is equal to:’

A /42
B.6+/5


https://dl.doubtnut.com/l/_FEkcLvqDDMgX
https://dl.doubtnut.com/l/_6BUolTtGjA5a
https://dl.doubtnut.com/l/_EIKfAgD1DVLq

C.3\/5

D. 21/42

Answer: D

° Watch Video Solution

60. The foot of the perpendicular from the point (1,2,3) on the line
7) = (62 + 73’ + 712:) + )\(3% + 23 — 2]2:) has the coordinates

A. (5,8,15)

B. (8,5,15)

C.(3,5,9)

D. (3,5,-9)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_EIKfAgD1DVLq
https://dl.doubtnut.com/l/_xb69dkyYbJyZ
https://dl.doubtnut.com/l/_ghe2ccnqN1VB

61. The shortest distance between the lines
T = (2_3) +)\<%+23‘—3l§:)

and7>: (73—3+2fc)+,u(2%—l—43—5fc) is

@

Sle Glewle

o

Answer: B

o Watch Video Solution

62. The shortest distance between the lines lines
T Y oz x—|—2_y—4_z—5_ .
7 =3 =1 and < — 8 — 1 in the interval:

A (2, 3]

B. [0, 1)


https://dl.doubtnut.com/l/_ghe2ccnqN1VB
https://dl.doubtnut.com/l/_Vsm8GuXUkK8b

C.(3,4]

D.[1,2)

Answer: A

° Watch Video Solution

63. Find the angle between the line 7) = (i + 23’ — I;:) + )\(% — 3 + I;:)

and the plane ver. (22 — 3 + I;:) =4

1

|28

W =

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Vsm8GuXUkK8b
https://dl.doubtnut.com/l/_ikDoUJLQJSWv
https://dl.doubtnut.com/l/_KQyJUTbBDgwu

64. The value of m for which the line v = = is
2 3 m

perpendicular to normal to the plane 7. (2% + 35 + 4]2:) =0is

13
4
g _ A7
4
C.4

D. none of these

Answer: A

o Watch Video Solution

65. The distance of the plane through (1,1,1) and perpendicular to the line

m—l_y—l_z—lf th
T rom the origin is

@
o W | w


https://dl.doubtnut.com/l/_KQyJUTbBDgwu
https://dl.doubtnut.com/l/_zZigPZMRzjOB

D.1

Answer: C

° Watch Video Solution

66. The equation of the plane

through

r+y+24+3=0=2x—-y+3z+1 and parallel

2odZs

. —
Az —by+3z2=17
Bz —by+3z= —7

Cx+5d5y+2=7

Dz +5+3z2= —7T7

Answer: A

to

the

the

line

line

° Watch Video Solution



https://dl.doubtnut.com/l/_zZigPZMRzjOB
https://dl.doubtnut.com/l/_GPNBpEmxR79t
https://dl.doubtnut.com/l/_hh6KCjlkwrmC

67. Find the vector equation of the plane in which the lines

‘?:%+3+AG+&3—@ md7?:(%+ﬂ+ﬂ(—%+3—%)

lie.

cr.(—i+j+k)=1
D.7. i+l§:—l§:):0

Answer: B

o Watch Video Solution

r—3 y+2 244 i i th |
=TT 3 ies in e place,

lt + my — z=9,then 2+ m?is equal to: (1) 26 (2) 18 (3) 5 (4) 2

68. If the line,

A. 26

B.18


https://dl.doubtnut.com/l/_hh6KCjlkwrmC
https://dl.doubtnut.com/l/_ePM5Nm6ZyFYi

C.5

D.2

Answer: D

° Watch Video Solution

69. Find ten equation of the plane passing through the point (0,7, — 7)

-3 2 1

+1 -3 +2
and containing the line * _ Y z .

Az+y+2z2=0
Bzx—y—2=0
C3dx+y+2=0

Dx —y—2+14=0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ePM5Nm6ZyFYi
https://dl.doubtnut.com/l/_p6PY4Bh0JgCg
https://dl.doubtnut.com/l/_HROIC0XeGIRY

70. The vector equation of the plane containing he line

?:(—2%—33%—4@)%—)\(3%—23—@) andthepoint%—l—23’+3]}

is

e
|
|—l
]

AT, <%+3

B.7. (%—3

)
)

. (3% +l§:) — 10

>
I
'—l
(]

D. none of these

Answer: A

o Watch Video Solution

71. The equation 3y + 4z = O represents a

A. plane containing z-axis

B. plane containing x-axis

C. plane containing y-axis


https://dl.doubtnut.com/l/_HROIC0XeGIRY
https://dl.doubtnut.com/l/_4HrtHj9QtN8M

D. line with direction numbers 0,34

Answer: B

° Watch Video Solution

72. the mirror image of point (3,1,7) with respect to the plane
x —y+ z = 3 is P. then equation plane which is passes through the

point P and contains the line % = % =

T.
Az+y—3z2=0
B.3z +2=0

Cz—4y+72=0

D.2z —y =20

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4HrtHj9QtN8M
https://dl.doubtnut.com/l/_ormyJbpIM3hN
https://dl.doubtnut.com/l/_BqXWCFFLPWVg

73. The equation of the plane containing

A

-
T

D. none of these

Answer: C

the lines

= (%4—3—];:) —}—)\<3z—3) and 7 = (4%—1%)+u(2'z+3l;),is

o Watch Video Solution

74. Prove that

x—l—l_y—|—3 z+5 r—2 y-—4

= and

3 5 7 1 4

Aslo, find the plane containing these two lines.

Az —2y+2=0

B.x+2y—2=0

lines

are coplanar .


https://dl.doubtnut.com/l/_BqXWCFFLPWVg
https://dl.doubtnut.com/l/_lLmXGXvkGYpg

Cz—2y+2=1

D. none of these

Answer: A

° Watch Video Solution

75.The equation of the plane containing the two lines

r—1 y+1 d:c_y—2_z+1.
2 -1 3T T3 T °"®

A8 +y—5 —T7=0

B.8 +y+52—-7=0

C8 —y—5z—-7=0

D. none of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_lLmXGXvkGYpg
https://dl.doubtnut.com/l/_vimzaAscd9OT
https://dl.doubtnut.com/l/_u0mG8pJe1T3U

. If the li = _ _
76 e lines 7 1 - and 7 5 1

T — 2 y—3>z—4 z—1 y—4 z-5
are coplanar then k can have (A) exactly two values (B) exactly thre values
(C) any value (D) exactly one value

A. any value
B. exactly one value
C. exactly two values

D. exactly three values

Answer: C

° Watch Video Solution

77. If the lines z = = and %: zZ ___ —

intersect each other, then X lies in the interval

A. (9,11)

B. (-5,-3)


https://dl.doubtnut.com/l/_u0mG8pJe1T3U
https://dl.doubtnut.com/l/_vWnpxEQCYvOn

C. (13,15)

D. (11,13)

Answer: D

° Watch Video Solution

78. Two lines Lz = 5, y_ _ 2 andLy:x = « y __2 are
3—«a —2

coplanar. Then a can take value (s)a.1b.2c.3d. 4

A 14,5

B.1,2,5

C.345

D.24,5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vWnpxEQCYvOn
https://dl.doubtnut.com/l/_4qv5NvQEcfPN
https://dl.doubtnut.com/l/_1fBcpGlc7ycv

79. The number of distinct real values of X for which

a:—l_y—2_z—i—3 dw—3_y—2_z—1 |
=3 " %h an = 2 3 are coplanar,
A3
B.2

C.1

D.4

Answer: A

o Watch Video Solution

Section | Solved Mcgs

1. The locus of a point P(z, y, z) which moves in such a way that z = ¢

(constant), is a

A. line parallel to z-axis


https://dl.doubtnut.com/l/_1fBcpGlc7ycv
https://dl.doubtnut.com/l/_BrRL6K9ksqH1

B. plane parallel to xy-plane

C. line parallel to y-axis

D. line parallel to x-axis

Answer: B

° Watch Video Solution

2. The locus of a point P(z, y, z) which moves in such away that z = a
andy = bisa

A. plane parallel to xy-plane

B. line parallel to x-axis

C. line parallel to y-axis

D. line parallel to z-axis

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_BrRL6K9ksqH1
https://dl.doubtnut.com/l/_Squ22kul9BYk

3.1n a three dimensional space the equation 2 — 5z + 6 = 0 represents
a. points b. planes c. curves d. pair of straight lines

A. two points

B. two parallel planes

C. two parallel lines

D. a pair of non -parallel lines

Answer: B

o Watch Video Solution

4.If the equation of a plane is lx + my + nz = p which is in the normal

form, then which one of the following is not true?

A.l,m and n are the direction cosines of the normal to the plane

B. pis the length of the perpendicular from the origin to the plane


https://dl.doubtnut.com/l/_Squ22kul9BYk
https://dl.doubtnut.com/l/_til5JuRWXkXv
https://dl.doubtnut.com/l/_97WFsR4WEgp7

C. the plane passes through theorigin for all values of

DE+m?2+n?=1

Answer: C

° Watch Video Solution

5.The equation az + by + ¢ = 0 represents a plane perpendicular to the

A. xy-plane

B.yz-plane

C.zx-plane

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_97WFsR4WEgp7
https://dl.doubtnut.com/l/_HAynk75BUWN6

6. The plane 2z — (1 + M)y + 3Az = 0 passes through the intersection
of the plane

A2z —y=0andy+3z2=0

B.2r —y=0andy—3z2=0

C2x+3yz=0andy =10

D. none of these

Answer: B

o Watch Video Solution

7.1f a plane meets the coordinates axes at A, Band C, in such a way that

the centroid of AABC is at the point (1, 2, 3), the equation of the plane

is

w| w

©| w


https://dl.doubtnut.com/l/_GlX6E0sDnyaG
https://dl.doubtnut.com/l/_jjJglilmCbfR

C=+=+< =

T Yy |z l
1 2 3 3

D. none of these

Answer: B

° Watch Video Solution

2

8. The equation 1222 — 2y® — 622 — 22y — 8zy + 622 = 0 represents

A. a pair of straight lines
B. a pair of planes
C.ashere

D. a pair of planes not passing through the origin.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jjJglilmCbfR
https://dl.doubtnut.com/l/_2miRGf3n0Qce

9.Find the image of the point (1, 3, 4) in the plane2z —y + z + 3 = 0.
A (3,5, —2)
B.(—3,5,2)
C.(3, —5,2)

D. (3,5, 2)

Answer: B

o Watch Video Solution

ac—2_y+1 z—1

= intersects the curve
3 2 1

zy =c? z=0ifcis equal toa. +1b.41/3 c. +4/5 d. none of these

10. The line

A £1

B.+£1/3

C.++/5

D. none of these


https://dl.doubtnut.com/l/_of69z8GMbCUM
https://dl.doubtnut.com/l/_H8uIFtOrrFqg

Answer: C

° Watch Video Solution

11. A non vector a is parallel to the line of intersection of the plane

determined by the vectors i,7 + j and thepane determined by the

P o - ~ ™
vectors i — j, ¢ + k then angle between @ and 7 — 27 + 2k is = (A) 5

B T C T D T
()5()6( )Z
Am/3
B.m/4

C.7m/6

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_H8uIFtOrrFqg
https://dl.doubtnut.com/l/_R4CbAnlvMZaI

12. The distance between the line
— 4 ~ 2 s 2
r =2t —25+3k+ A(z -7+ 4k) and the plane
7. (%+5§'+l}) — 5is
A 10
"9

10
B. ——
33

C10
"~ 3

D. none of these

Answer: B

o Watch Video Solution

13. Equation of the line passing through (1, 1, 1) and parallel to the plane

2r +3y+ 2+ 5=20is



https://dl.doubtnut.com/l/_DtOOIfcqEozT
https://dl.doubtnut.com/l/_A5PISwrptuwc

CT3 T T

z—1 y—1 z—1

D 2 3 1
Answer: B

° Watch Video Solution

14. The vector parallel to the line of intersection of the planes
7. (3% —3‘+ic) — 1and 7. (%+4§'—2l}) — 2is :

A2 +7) + 13k

B.—2i — 7j + 13k

C.2% + 7j + 13k

D.—2i + 7j + 13k

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_A5PISwrptuwc
https://dl.doubtnut.com/l/_Ki5BayQOcS0F
https://dl.doubtnut.com/l/_eLIQNmI1AcMv

:1:—1_y+1 _z—3

15. F th : =
5 or e l 3 5 —

and the plane
P:x — 2y — z = 0 of the following assertions the ony one which is true
is (A) | lies in P (B) | is parallel to P (C) | is perpendiculr to P (D) none of
these

A.Lis 1 toll

B. L liesin Il

C. Lis parallel to Il

D. none of these

Answer: B

o Watch Video Solution

16. The equation of the plane containing the line

7:%+3‘+/\(2%+3+4l§:> is

A.7.<—2—23+I%):3


https://dl.doubtnut.com/l/_eLIQNmI1AcMv
https://dl.doubtnut.com/l/_IFIxPNUiiuhz

0

B. 7. (%+2§‘—fc)

7. (%+23—l§:) 3

D. none of these

Answer: C

° Watch Video Solution

17. The ratio in which the plane 7. <z Y 31%) — 17 divides the line
joining points —2i + 43' + 7k and 37 — 53’ + 8k is

A 3:5

B.1:10

C.3:10

D.1:5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IFIxPNUiiuhz
https://dl.doubtnut.com/l/_7hueHdD70vT8

18. The sine

T — 2 . y—3 2=

of

the angle between the straight

3 4
a2

6+/5
4
5/2
V2

C—
10

2v/3
5

Answer: C

5

4
and the plane 2z — 2y 4+ 2 = 5is

line

o Watch Video Solution

19. The plane z +

2

Y

3

z . .
+ — =1 cuts the co-ordinate axes in A, B, C:

4

then the area of the AABC is

A. /29 sq. units

B. \/Zﬁsq. units


https://dl.doubtnut.com/l/_7hueHdD70vT8
https://dl.doubtnut.com/l/_CnQpJUPo1i6y
https://dl.doubtnut.com/l/_o2FYNxEDLWib

C. /61 sq. units

D. none of these

Answer: C

° Watch Video Solution

. — - — .
20. Let the pair of vector a, b and ¢, ¢ d each determine a plane. Then

the planes are parallel if

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_o2FYNxEDLWib
https://dl.doubtnut.com/l/_kX7vn8ef5LZB
https://dl.doubtnut.com/l/_MTSjz7KPXNmq

. . I Y
21. The equation of the plane contaiing the lines » = a; + A b and

%
?):724—#1)5

i 1
AlY d b)) =0

- %_—%%
377 b =a.b
- % __%%
clg ¥ 2]=9

D. none of these

Answer: A

o Watch Video Solution

22, The coplanar points A, B,C,D are
(2—2,2,2),(2,2—-19,2),(2,2,2 — z) and (1, 1, 1) respectively then
1 1 1
A=+ -—+==1
x Yy oz

Bx+ty+z2z=1



https://dl.doubtnut.com/l/_MTSjz7KPXNmq
https://dl.doubtnut.com/l/_Qc3mBvI7rL7u

D. none of these

Answer: A

° Watch Video Solution

23. Find the vector equation of the plane in which the lines

7:z+3+x(z+23_;;) and 7:(z+3)+u(_;+3_2@)
lie.
Ar (224—3—312:): -4

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Qc3mBvI7rL7u
https://dl.doubtnut.com/l/_gwGPDxchrCXZ
https://dl.doubtnut.com/l/_17XBoIVDBP8f

24. The equation of the plane which contains the origin and the line of

. . — = — = .
intersectio of theplane r. a =d;and r. b =dsis

Answer: D

o Watch Video Solution

25. The length of the perpendicular from the origin to the plane passing

%
through the points @ and containing the line T =b + AC s

-]

—
C

| IS

I



https://dl.doubtnut.com/l/_17XBoIVDBP8f
https://dl.doubtnut.com/l/_2Sl0LlM6exOw

sl
-|
o

C.
P
b xe +c¢c Xa
ks
a b ¢
Rl e e
a X b+c¢c Xa
Answer: C

o Watch Video Solution

26. The distance of the point (1, — 2, 3) from the planez —y+ 2 =15
d parallel to the line = = 2 = ——j
measured parallel to the line o = o = —,is
A1
B.2
C.4

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2Sl0LlM6exOw
https://dl.doubtnut.com/l/_TqNCObmeEekX

27. The equation of the plane which bisects the line joining (2, 3, 4) and

(6,7,8)

Az+y+2+15=0

Bz—y—2—-15=0

Cx—y+2z—16=0

Dz+y+z2z—156=0

Answer: D

o Watch Video Solution

%
28. Distance of the point P(?) from the line 7 = @ +Abis



https://dl.doubtnut.com/l/_TqNCObmeEekX
https://dl.doubtnut.com/l/_9M0CfAOZTDiY
https://dl.doubtnut.com/l/_0iS6QKReNaXN

B. vy
g
(¢-d) =0
<c —a)x b
C. —
‘b

D. none of these

Answer: A

o Watch Video Solution

29. Distance of the point P(xy,¥,22) from the line

T — T Yy—n zZ—2 . . .
l = = , Where [, m, n are the direction cosines of
m n

the line, is

A \/l2(m2 —z)? +m?(y — 1) + n? (22 — 2%)

B.|l(z2 — x1) + m(y2 — y1) + n(z2 — 21)|

\/(332 —21)? (o — )+ (22— 21)° — {l(wz —z1) +m(y — Y1


https://dl.doubtnut.com/l/_0iS6QKReNaXN
https://dl.doubtnut.com/l/_vkow7fzoNQDa

D. none of these

Answer: C

o Watch Video Solution

— = —
30.If a, b and c are three non-coplanar vectors then the length of

— — . Y — :
projection of vector a in the plane of the vectors b and ¢ may be given

by
@ (07),
a.| b x ¢
A.
%
‘b x?
@ (07)
a X[ b X ¢
B.
_>
‘bx?
_>
c[: b 7
: —
b.C

D. none of these

Answer: B

[ o |


https://dl.doubtnut.com/l/_vkow7fzoNQDa
https://dl.doubtnut.com/l/_fjyNu9LiFTUV

l & Watch Video Solution J

31.1f P = (0,1,0) and Q = (0, 0, 1) then the projection of PQ on the

planex +y+ 2z = 3is

A2

B.3

C.\/2
D./3

Answer: C

o Watch Video Solution

32. A plane Il passes through the point (1,1,).If b, ¢, a are the direction
ratios of a normal to the plane where a, b, c(a < b < ¢) are the prime

factors of 2001, then the equation of the plane ll is

A 29z + 3ly + 2z = 63


https://dl.doubtnut.com/l/_fjyNu9LiFTUV
https://dl.doubtnut.com/l/_l8IWimh2JpNZ
https://dl.doubtnut.com/l/_4vl4QHumHIVh

B.23z + 29y — 29z = 23

C.23z + 29y + 32 = 55

D.31z + 37Ty + 3z =171

Answer: C

° Watch Video Solution

33.If the foot of the perpendicular from O(0, 0, 0) to a plane is P(1, 2, 2)
.Then the equation of the plane is

A—-z+2y+82—-9=0

Bz +2y+22—-9=0

Cz+y+z—-5=0

Dz +2y—324+1=0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_4vl4QHumHIVh
https://dl.doubtnut.com/l/_neYHdj1eraH1

34.The equation of the plane through the point (1,2,3) and parallel to the
planex + 2y + 5z = Qs

Az—1)+2y—2)+5(z—3)=0

Bz +2y+52=14

Cx+2y+5z==6

D. none of these

Answer: A

o Watch Video Solution

) i x—3 y—2 z—1 | )
35. The straight line 3 - 1 0 is Parallel to x-axis

Parallel to the y-axis Parallel to the z-axis Perpendicular to the z-axis

A. parallel to x-axis

B. parallel to y-axis


https://dl.doubtnut.com/l/_neYHdj1eraH1
https://dl.doubtnut.com/l/_f0hbqZtukv8Y
https://dl.doubtnut.com/l/_NMUA3I2qKktw

C. parallel to z-axis

D. perpendicular to z-axis

Answer: A

° Watch Video Solution

36. The dr. of normal to the plane through (1, 0, 0), (0, 1, 0) which makes

0
an angle 1 with plane,,z + y = 3 are

Al,4/21
B.1,1,+/2

c.1,1,2

D.v/2,1,1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_NMUA3I2qKktw
https://dl.doubtnut.com/l/_vOPzdlYXGyqE
https://dl.doubtnut.com/l/_PlNEexnSGmJY

37. The plane which passes through the point (3,2,0) and the line
x —3 y—6 z—4

T =5 — 1 is a. x—y+z=1b. z24+y+2=5 c
r+2y—z2=1d.2x —y+2=5

Az —-—y+z=1

Bz +y+2=5

Cx+2y—2z=1

D.2z —y+2=25

Answer: A

o Watch Video Solution

-1 y+1 2z2-1 x—3 y—k z
2 3 4 1 2 1

38. If the lines

intersect, then find the value of k.

| © o] w


https://dl.doubtnut.com/l/_PlNEexnSGmJY
https://dl.doubtnut.com/l/_D167v9AQRnRV

Answer: B

o Watch Video Solution

—9 -3 _
39. the lines < = Y z—4

1 1 = — and
coplanar if k=?

A k=30r—3

B.k=0o0or—-1

Ck=1lor—-1

D.k=0or—-3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_D167v9AQRnRV
https://dl.doubtnut.com/l/_a4VSNlD1XhCk
https://dl.doubtnut.com/l/_xRoUYsPQjIkc

40. Two systems of rectangular axes have the same origin. If a plane cuts

them at distances a,b,canda’,b’,c’ respectively, prove that

111 111
E%—b?—i_c_?_a'2+b'2+c'2

a? b2 c2 a'? b2 c?

a? b? c? a'? b2 c?

a? b2 c2 a'? b2 c?

@ B @ a7 pr er !
Answer: A
o Watch Video Solution
41. A tetrahedron has vertices

0(0,0,0), A(1,2,1), B(2,1, 3),andC( — 1,1, 2), then angle between

1 19
face OABand ABC will be a. cos ! (3_I> b. 30° . 90° d. cos ! (§>

A.90°


https://dl.doubtnut.com/l/_xRoUYsPQjIkc
https://dl.doubtnut.com/l/_UAJvN85iUvIo

19
B.cos 1 (g
1

Coos (17
. COSs 31

D.30°

Answer: B

° Watch Video Solution

—4 -2 —k
42. The value of k such that — T = Y T = z 5 lies in the plane

20 —4y=z="Tisa.7b.-7c.noreal valued. 4

AT

B.—7

C.no real value

D.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UAJvN85iUvIo
https://dl.doubtnut.com/l/_69tRm5wz40Q2

43. Find the distance of the point ( — 1, — 5, — 10) from the point of

x—2_y+1_z—2 d |
s T 1 T 13 and plane

intersection of the line

T—Yy+z=>5.

A. 10

B.8

C.21

D.13

Answer: D

o Watch Video Solution

44, The length of the perpendicular drawn from (1,2, 3) to the line

r—6 y—7 z—-7

3 5 — isa.4b.5¢c.6d.7

A 4


https://dl.doubtnut.com/l/_69tRm5wz40Q2
https://dl.doubtnut.com/l/_t3H69bFJznK7
https://dl.doubtnut.com/l/_VNKZ2Km9uLNU

B.5

C.6

D.7

Answer: D

° Watch Video Solution

45. Distance between two parallel planes 2z +y+ 2z =28 and

4z + 2y + 4 +5—0'(1)5(2)7(3'»)9(4)3
T ay Az A A R T )

A9/2
B.5/2
C.7/2

D.3/2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VNKZ2Km9uLNU
https://dl.doubtnut.com/l/_lU4vFfU5aADL

46. A line with directional cosines prontional to 2, 1, 2 meets each of the
lines x = y+a =z and * + a = 2y = 2z. The coordinates of each of
the points deintersection are given by

A.(2a, 3a, a), (2a, a, a)

B. (3a, 2a, 3a), (a, a, a)

C. (3a, 2a, 3a), (a, a, 2a)

D. (3a, 3a, 3a), (a, a, a)

Answer: B

o Watch Video Solution

47. If the straighat lines
t
r=14+s,y= —3—As,z=1+ As and =z = §,y:1—|—t,z:2—t
1
with parameters s and t respectively, are coplanar, then A equals (A) — 3

(B) —1(C) —2(D) 0


https://dl.doubtnut.com/l/_lU4vFfU5aADL
https://dl.doubtnut.com/l/_yJ9XKBr1wOUL
https://dl.doubtnut.com/l/_kj4oX9zAU8UH

B.—1

c 1
2
D.—2
Answer: D

o Watch Video Solution

— 7 —
48. If a, b and c are three non-coplanar vectors, then the vector
_>
r

%
equation r — (1 —p — q)? +pb + q? represents a

A. straight line
B. plane
C. plane pasing through the origin

D. sphere

Answer: B



https://dl.doubtnut.com/l/_kj4oX9zAU8UH
https://dl.doubtnut.com/l/_s43exju5BJUz

| ° Watch Video Solution

49. A plane Il makes intercept 3 and 4 respectively on x and z axes. If Il is

parallel to y-axis, then its equation is

Adx +4y =12

B.4x + 3z = 12

C.3y +4z =12

D.4y + 3y = 12
Answer: B

° Watch Video Solution

50. The equation of the plane through the intersection of the planes

x+y+z=1and 2z + 3y — z + 4 = 0 and parallel to x-axis is

Ay—2z+6=0


https://dl.doubtnut.com/l/_s43exju5BJUz
https://dl.doubtnut.com/l/_C34XwqXwFEtN
https://dl.doubtnut.com/l/_TOxVchYMR7WQ

B3y—2+6=0

Cy+3z2+6=0

D.3y —22+6=0

Answer: A

° Watch Video Solution

51. Find the distance of the point P(3,8,2) from the line

1 1
E(x —-1) = Z(y —3) = g(z — 2) measured parallel to the plane

3z +2y— 22+ 15 = 0.

A2
B.3
C.6

D.7

Answer: D

[ - |


https://dl.doubtnut.com/l/_TOxVchYMR7WQ
https://dl.doubtnut.com/l/_vLeW0tAeWYHj

| @ Watch Video Solution J

52. If from a point P(a, b, c) prpendiculars PAandPB are drawn to

yzandzx — planes, find the eqution of th plane OAB-.

A.bcx + cay + abz = 0

B.bcx + cay — abz =0

C.bcx — cay + abz =0

D. —bcx + cay + abz = 0

Answer: B

o Watch Video Solution

53. A non vector a is parallel to the line of intersection of the plane
determined by the vectors i, ¢ + j and thepane determined by the
vectors 7 — 3, i + k then angle between E) and 7 — 23’ + 2k is = (A) %
8) % (C) = (D)

3 6 4


https://dl.doubtnut.com/l/_vLeW0tAeWYHj
https://dl.doubtnut.com/l/_2oPPLFAXLEYc
https://dl.doubtnut.com/l/_Js5AAVkTBLBT

=l ol w3 o

Answer: D

o Watch Video Solution

54. If M denotes the md point of the line segment joining
A(4'A£ + 63 — 10]2:) and B( — i+ 23’ + IAs), then the equation, of the

plane throughM and perpendicular to AB is

. ..\ 135
AT —5i—3j+11k>+T:0


https://dl.doubtnut.com/l/_Js5AAVkTBLBT
https://dl.doubtnut.com/l/_cM4uNEaTdtFW

Answer: A

° Watch Video Solution

55.The distance between the line
— 4 “ 2 sA 2
7’=2’L—2]+3k+)\(l—j—|—4k) and

7. (%+53‘+ic) — 5is

Answer: C

the

plane

° Watch Video Solution



https://dl.doubtnut.com/l/_cM4uNEaTdtFW
https://dl.doubtnut.com/l/_skxD9HC7Ltqd

. z+1 y—1 z—2
56. If the angle 6 between the line T and the

1
plane 2z — y + v/ Az + 4 = 0 is such that sinf = 3 the value of \ is

A —4/3
B.3/4
Cc.—3/5

D.5/3

Answer: D

° Watch Video Solution

57.then image of the point ( — 1, 3,4) in the planex — 2y = 0

17 19
Al —=, - =4
(-5 -5

B. (15, 11, 4)

D. none of these


https://dl.doubtnut.com/l/_B02XwZiLlZTo
https://dl.doubtnut.com/l/_vxEncaKVolFx

Answer: D

° Watch Video Solution

58. Let L be the line of intersection of the planes 2z 4+ 3y + z = 1 and

x + 3y + 2z = 2.If L makes an angles awith the positive x-axis, then cos

1 1 1
aequals — — 1 —
V32 2
Al
8 1
V2
c 1
V3
Dl
)
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vxEncaKVolFx
https://dl.doubtnut.com/l/_kXgDAWrfkAqz

59.The line passing through the points (5, 1, a) and (3, b, 1) crosses the

. 17 —13
yz-plane at the point | 0, —, —— ].Then

)
Aa=6b=14
B.a =28,b=2
Ca=2,b=28
D.a=4,b=6
Answer: A

o Watch Video Solution

60. If the straight i z-l_y-2_ 223 q
. e Sralg Ines kj = 2 = 3 an

z — 2 y—3 z—1 . . . .
s T L — 3 intersect at a point, then the integer k is

equalto (1) —5(2)5(3)2(4) —2

A 2


https://dl.doubtnut.com/l/_pBmTqL3m4uYf
https://dl.doubtnut.com/l/_hmNLoEcS7Dq4

D.5

Answer: C

° Watch Video Solution

. T — 2 y—1 z+2 .
61. Let the line 5 = 5 — 3 lie in the plane

z + 3y — az+ B = 0. Then(a, B)equals(A)(6,17)(B)(-6,7)(C)(5,15)(D)

(_5,5)\
A. (6, — 17)
B.(—6,7)
C. (5, — 15)
D.(—5,5)
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_hmNLoEcS7Dq4
https://dl.doubtnut.com/l/_HikY7fbkrMwd

62. Read the following passage and answer the questions. Consider the

lines

Ll:w+1 _ y+2 _ z+1’L2:zI2 _ y—;—2 _ z;3

3 1 2
The unit vector perpendicualr to both L; and Ly is

1 R . "
A.—(—i+7j+7k:)
V99
1 N .
B.——|( —¢—7j+ 5k
5\/5< )
1 A
C——= —17+ 75+ 5k
5\/§< )
1
D—<7’L—7j—k>
V99
Answer: B

o Watch Video Solution

63. Let P(3,2,6) be a point in space and @ be a point on line

?) = (Z — 3 + 2]2:) + ,LL< —3i+ 3 + 5IA<:>-Then the value of u for which


https://dl.doubtnut.com/l/_HikY7fbkrMwd
https://dl.doubtnut.com/l/_1VZFbCiaQOGR
https://dl.doubtnut.com/l/_gyuPl6NhrnJb

_>
the vector P (@ is parallel to the plane x — 4y + 3z = lis a. 1/4 b.-1/4 c.

1/8d.-1/8

Answer: A

o Watch Video Solution

64. A plane passes through (1,-2,1) and is perpendicualr to two planes
20 —2y+ 2z =0 and = —y+ 2z = 4, then the distance of the plane
from the point (1,2,2) is

A.0

B.1


https://dl.doubtnut.com/l/_gyuPl6NhrnJb
https://dl.doubtnut.com/l/_ppuzmmErF87S

D. 2¢/2

Answer: D

° Watch Video Solution

65. Let 7 be vector parallel to line of intersection of planes P; and P,
through origin. If Pjis parallel to the vectors 25 + 3k and 4j — 3k and
P, is parallel to j — k and 3I + 3j, then the angle between @ and

21 + 5 — 2kis :

A7T 3
.40r4

B7r 3
.20r2

C7T s
.60r3

D7r 27
.3or3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ppuzmmErF87S
https://dl.doubtnut.com/l/_qTRqWkMMxtia

66. If o+ pB+~v=2and 7:a7§+ﬂ3+'yl;:,l%>< (l%x?) :3
then gamma=(A) 1(B) -1 (C) 2 (D) none of these

A.O

B.1

C.2

D.3

Answer: C

o Watch Video Solution

_ x z - -
67. A variable plane — + Y + — =1 at a unit distance from origin cuts
a

b c
the coordinate axes at A, B and C. Centroid (z,y, z) satisfies the

1 1
equation — + — 4+ — = K. Thevalueof K is
z2 | g2 2

A9

B.3


https://dl.doubtnut.com/l/_Hs5my6MxC7lA
https://dl.doubtnut.com/l/_Ra3EZQslwDGw

c.1/9

D.1/3

Answer: A

o Watch Video Solution

68. If the distance of the point P(1, —2,1) from the plane

x + 2y — 2z = a, wherea > 0, is5, then the foot of the perpendicular

4_41C
3’ 33) 7

fi P to th I [ 84 T
rom o the place is a. | 5,5, — 7

1 2 10 q 2 1 )
333)%\3 "3 3

A<§£—_7)
"\373” 3
B<£—_41)
"\3’ 3’3
1 2 10
C-<§’§’?>
2 1 5
D-<§"§’§)

Answer: A



https://dl.doubtnut.com/l/_Ra3EZQslwDGw
https://dl.doubtnut.com/l/_5oP4nNMTBl6S

I & Watch Video Solution

69. Equation of the plane containing the straight line % = % = % and

perpendicular to the plane containing the straight lines 5 = % = %
r Yy _ z.

and T-35°-3°

Az +2y—2z=0
B.3x + 2y — 2z =0
Cx—2y+2=0

D.5z + 2y — 42 =10

Answer: C

o Watch Video Solution

70. If the distance between the plane Ax 2y + z = d and the plane

containing the lines 21x=32y=43zand 32x=43y=54zis 6,then |d| is


https://dl.doubtnut.com/l/_5oP4nNMTBl6S
https://dl.doubtnut.com/l/_Ju1d3UV2hMgK
https://dl.doubtnut.com/l/_8M2648PfXEg8

A3

B.4

C.6

D.1

Answer: C

o Watch Video Solution

. . : z — 2 y—1 z+1
71. A line from the origin meets the lines T =5 — 1 and

8
T—3 +3 -1
) 2 = y_l =2 1 at P and @ respectively. If length PQ = d,

then d? is

A3

B.4

C.5

D.6


https://dl.doubtnut.com/l/_8M2648PfXEg8
https://dl.doubtnut.com/l/_xFAO2t7M2NmN

Answer: D

° Watch Video Solution

72.The number of 3 x 3 matrices A whose entries are either 0 or 1 and
for which the system A[zyz] = [100] has exactly two distinct solution is
a.0b.2” —1c.168d.2

A.O

B.2" — 1

C. 168

D.2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xFAO2t7M2NmN
https://dl.doubtnut.com/l/_q0SaSrPS8lo6

) y—1 z—3
73. If the angle between the line x 5 = T\ and the plane

x+2y+3z=4is cosl(\/%>,then)\ = (A)%(B) g (C)%(D)g

N w >

O
w|lot oo N w W

Answer: A

o Watch Video Solution

74. let ab, and ¢ be three real numbers satistying
1 97

[a,b,c][8 2 7| =10,0,0] Let w be a solution of z* — 1 = 0 with
T3 7

Im(w) > 0.Ifa =2 with b nd c satisfying (E) then the vlaue of

3 1

= 4=y 3 is equa to (A)-2 (B) 2(C) 3 (D) -3
w? wb we


https://dl.doubtnut.com/l/_vI9w7HdGd5WO
https://dl.doubtnut.com/l/_dY2TkJRox7v1

A0

B.12

C.7

D.6

Answer: D

o Watch Video Solution

75. The distance of the point (1,-5,9) from the plane x-y+z = 5 measured
along thelinex=y=zis

A.5,/3

B.3,/10

C.3y/5

D.10,/3

Answer: D



https://dl.doubtnut.com/l/_dY2TkJRox7v1
https://dl.doubtnut.com/l/_IakDYOkMEzK1

| o Watch Video Solution

76.Find the equation of the perpendicular from point (3, —

T _Y"2_ 273 Ao fnd th dinat
2 = 3 = 4 . SO, n e coordinates

perpendicular and the length of perpendicular.

A. /33
B. /53
C. /66
D. /29

Answer: B

1, 11) to line

of foot of

o Watch Video Solution

77. The point P is the intersection of the straight line joining the points

Q(2,3,5) and R(1, — 1,4) with the plane 5z — 4y — z = 1. If S is the


https://dl.doubtnut.com/l/_IakDYOkMEzK1
https://dl.doubtnut.com/l/_Bc4e6aHKxFwj
https://dl.doubtnut.com/l/_3IZqHmYYeYcP

foot of the perpendicular drawn from the point T'(2, 1, 4) to QR, then the
1

—— (B) v/2(C) 2 (D) 24/2
)ﬁ(nﬂ) (D) 24/2

length of the line segment PS is (A

A1/4/2
B. /2

C.2

D. 2¢/2

Answer: A

o Watch Video Solution

78.1f the straight linesx 1y1z2k2and x1y 1z 5 2 k are coplanar, then

the plane (s) containing these two lines is (are) (A)y+2z=1(B)y+z =1

(C)yz=1(D)y2z=155

Ay+12z2= —1

By+1lz= —1

Cyx2z=1


https://dl.doubtnut.com/l/_3IZqHmYYeYcP
https://dl.doubtnut.com/l/_RgYpWaKO4AHI

Dytz=1

Answer: B

° Watch Video Solution

79. If the three planes =z =5,2x —bay+3z—2=0 and

3bx + y — 3z = 0 contain a common line, then (a, ) is equal to

(53
(5 %)
(- 53)
(% 5)

B.

(@]

D.

I

—_
01|°°

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_RgYpWaKO4AHI
https://dl.doubtnut.com/l/_yxweEYAadsIg

80. Perpendiculars are drawn from points on the line

2 +1
:v—2|— _ Y 1 zg to the plane z+4+y+2=3 The feet of
dicul i th i (@) x_y—l_z—2 (b)
perpendiculars lie on e line (a F =8 - T3
r y—1 z-2 r y—-1 z-2
2 3 5 (c) 1 3 — (d)
e y—-1 2-2
2 -7 5
Ayl _z-2
5 8 —13
B.iy_1:2_2
2 3 -5
C-E_y—lzz—2
4 3 -7
p. 2 _¥-1_2-2
2 -7 5
Answer: D

° Watch Video Solution

81. A line [ passing through the origin is perpendicular to the lines

L:(B+t)i+(—1+2)]+ (4+2)k, 00 <t <00,lp:(3+8)t+ (3+2


https://dl.doubtnut.com/l/_FTtwaayYKr3S
https://dl.doubtnut.com/l/_OUdMo65wiupn

then the coordinates of the point on I, at a distance of /17 from the

point of intersection of l&l; is/are:

7T 75
A<3 3 3)and( 1, —1,0)

B.(—1, —1,0)and (1,1,1)

"\979"9 3733

7 8
D.(1,1.1 —, =
(,,)and(,99>

©o| 3

Answer: D

o Watch Video Solution

82. Consider the set

of

eight

vector

V = {a% + b_}' + cI;:; a,bce {—1, 1}} Three non-coplanar vectors can

be chosen from V is 2 ways. Then pis____

A3

B.5

C.6


https://dl.doubtnut.com/l/_OUdMo65wiupn
https://dl.doubtnut.com/l/_plEFU92y7X5k

D.4

Answer: B

° Watch Video Solution

z—1 y—3 z—4

83. The image of the line 3 =1 — 3 in the plane
. ) r+3 Yy—95 z—2
2t —y+2+3=0 is the line (1) s -1 - 3 (2)
z+3 ) z+ 2 x—3 + 5 z—2
:y = (3) :y = (3)
-3 —1 5 3 1 -5
:L'—3_y—l-5_z—2
-3 -1 5
—3 5 _
A.m :y—I— :z 2
3 1 -5
Bz—3_y+5_z—2
-3 -1 5
z+3 y—>5 z—2
C. = =
3 1 -5
Dm+3_y—5_y—5_z+2
-3 -3 -1 5
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_plEFU92y7X5k
https://dl.doubtnut.com/l/_8sPSKQqjGU8d

84. From a point P(A, A\, A), perpendicular PQ and PR are drawn
respectively on the linesy = x,z =landy = — z,z = — 1If Pis such

that ZQPR is aright angle, then the possible value(s) of A is/(are)

A2

B.1

Answer: C

o Watch Video Solution

85. let L be a straight line passing through the origin. Suppose that all
the points on L are at a constant distance from the two planes
P:z+2y—z2z+1=0and Py:2z —y+ z— 1= 0, Let M be the locus
of the feet of the perpendiculars drawn from the points on L to the plane

P;. Which of the following points lie(s) on M?


https://dl.doubtnut.com/l/_AS3ACd6dx3c8
https://dl.doubtnut.com/l/_2dxxVJYj6iQ4

5 2
a(o -3 - 3)
1 1 1
B'(‘E"?E)
) 1
o(~20d)
1 2
D<_§,O,§>

Answer: A::B

o Watch Video Solution

86. The distance between the linez =2+ t,y=1+1¢,2 = —

1 t
2 2

and the plane . (fZ + 23’ + 6]2:) =10, is

Al
"6

@

N

| =
o Mg
—_

D. ——

V4l

Answer: D



https://dl.doubtnut.com/l/_2dxxVJYj6iQ4
https://dl.doubtnut.com/l/_f5JI83pdkW7s

| o Watch Video Solution

87. The shortest distance between the lines

2z +y+2—1=0=3zx+y+2z—2andz =y = z2,is

Jasle & ol

N

o

Answer: A

° Watch Video Solution

88. Consider a pyramid OPQRS located in the first octant

(x >0,y > 0,z > 0) with O as origin, and OP and OR along the x-axis

and the y-axis,respectively. The base OPQR of the pyramid is asqu are with


https://dl.doubtnut.com/l/_f5JI83pdkW7s
https://dl.doubtnut.com/l/_HxOmtlxpyyEr
https://dl.doubtnut.com/l/_H3zf8cDRF1vG

OP = 3. The point S is directly above the mid-point T of diagonal 0Q

such that T'S = 3.Then

Ax—y=0
By—z=0
Cz—x=0

Dx—y—2=0

Answer: A

o Watch Video Solution

89. From a point A with positon vector p(% + 7+ l%), AB and AC are

drawn perpendicular to the lines T =k + )\(% + 3) an
— ? o A . .
r = —k+ ,u(z — j), respectively. A value of p is equal to

A —2

B.—1

C. V2


https://dl.doubtnut.com/l/_H3zf8cDRF1vG
https://dl.doubtnut.com/l/_Ui84rZyb8Wj6

D. all of these

Answer: D

° Watch Video Solution

Section li Assertion Reason Type

1. Consider the planes 3z — 6y — 2z = 15and2x + y — 2z = 5.

Statement 1:The parametric equations of the line intersection of the
given planes are x = 3 + 14¢, y = 2¢, z = 15t. Statement 2: The vector
147 4+ 25 + 15k is parallel to the line of intersection of the given planes.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.


https://dl.doubtnut.com/l/_Ui84rZyb8Wj6
https://dl.doubtnut.com/l/_H7zUJPavZi3b

D. Statement-1 is False, Statement-2 is True.

Answer: D

o Watch Video Solution

2.Consider three planes Pj:x —y+ 2 =1

Pozt+y—2= -1

and Py:x —3y+32=2

Let Ly, Ly, L3 be the lines of intersection of the planes P, and P;, P;
and Py, P, and P, respectively.

Statement | Atleast two of the lines L, L, and L3 are non-parallel.

Statement Il The three planes do not have a common point.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.


https://dl.doubtnut.com/l/_H7zUJPavZi3b
https://dl.doubtnut.com/l/_MH7x9wg4hPlb

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

o Watch Video Solution

3. Statement 1: Let AB,C be the image of point P(a, b, c) in YZ, ZX and
XY planes respectively. Then, the equation of the plane passing through
points AB,C cuts intercepts a,b,c on the coordinate axes. Statement 2: The
image (a, B, ) of a point (x1, y1, 21) inthe planeaz + by + cz+d =0

a—wl_ﬂ—yl_'y—zl 2(a:c1+by1—|—cz1+d)

is given by

b ¢ a? + b2 + ¢

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.


https://dl.doubtnut.com/l/_MH7x9wg4hPlb
https://dl.doubtnut.com/l/_FSvBMdWRg8AW

D. Statement-1 is False, Statement-2 is True.

Answer: A

o View Text Solution

4. Consider the plane m:z + y — 2z = 3 and two points P(2, 1, 6) and
Q(6,5, —2).
Statement 1: PQ is parallel to the normal to the plane.
Statement 2: @) is the image of point P in he plane 7
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.


https://dl.doubtnut.com/l/_FSvBMdWRg8AW
https://dl.doubtnut.com/l/_j2OOybTOew2L

Answer: B

o Watch Video Solution

5. Statement 1: Lthe cartesian equation of the plane
— % ~ 3 ~ 7 3 ~ 7\ -

r = (’L—j) —I—)\(z+g—}—k) —}—u(z—2]—}—3k) isbr —2y—3z=17
Statement 2: The non parametric form of the plane

%
7:7+)\b —I—,u?is[?> ? ?]:[7 ? ?]

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_j2OOybTOew2L
https://dl.doubtnut.com/l/_mO572UMoBb7k

— — . .
6. Statement 1: If the vectors a and c¢ are non collinear, then the lines
— - = - = - = = — —
r:6a—c—l—)\<2c—a) andr:a—c+u(a+3c>are

coplanar.
. — .
Statement 2: There exists A and p such that the two values of r in
statement -1 become same
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.
C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mO572UMoBb7k
https://dl.doubtnut.com/l/_eszEVC4QeaXy
https://dl.doubtnut.com/l/_siM14oOqjsd4

7.Statement 1: If @ is an integer the the straight lines
— 4 4 2 4 ~ >
ro= ’L+2z+3k+)\<az+2j+3k>
— 4 ~ 2 4 ~ 2 . .
and r =21+ 37+ k+ ,u,<3z + 7+ 2k> intersect at a point for
a= —25.
Statement 2: Two straight lines intersect if the shortest distance between
them is zero.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_siM14oOqjsd4

r—1 z+1
8. Statement 1: The lines = y = + and

1 -1 1
x —2 y+1 z .
5 =5 —3 are coplanar and the equation of the plnae

containing themis 5z + 2y — 32 — 8 =0

. oT—2 y+1 z )
Statement 2: The line T -3 —3 is perpendicular to the

plane 3z 4+ 5y + 9z — 8 = 0 and parallel to the planex +y — 2 =0

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_l6jghMobxlxu

T+ 2 B y+1 B z—3
3. 2 2
distance 34/2 from the point (1,2,3) lies on the Ine

at a

9. Statement 1: A point on the line

r+7 y+t z—2
5 4 1
Statement 2: If d is the distance between the point ( — 1, — 5, — 10)

:13—2_y—|—1_z—2 th
71 T T ™

and the point of intersectionof the line

the planez — y + z = 5thend = 13

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7hH8vQBuBokR
https://dl.doubtnut.com/l/_IzlPGE3SEUYr

10. Consider the line L: 7(% + 33 — l;:) + )\(3 + 2]::) and the plane
71':7(’24-43-1-];:) +6=0
Statement 1: The line L intersects the plane 7 at the point (1,0,7).

Statement 2: The angle 6 between the line L and the plane 7 is given by
9 1 (1
= —cos — ).
2 5
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.
C. Statement-1is True, Statement-2 is False.

D. Statement-1is False, Statement-2 is True.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IzlPGE3SEUYr

1. Statement 1: The plane 5z + 2z — 8 =0 contains the line

2c —y+2—3=0 and 3z +y+2=2>5, and is perpendicular to

2x — y — bz — 3 = 0. Statement 2: The plane 3z + y + z = 5, meets the

linexz —1=y+ 1= 2—1atthepoint(1,1,1)

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1is False, Statement-2 is True.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ei7KEn4kngEA

12. Statement 1: The point A(3, 1, 6) is the mirror image of the point
B(1,3,4) intheplanex —y+ z = 5.
Statement 2: The plane £ — y + z = 5 bisects the line segment joining
A(3,1,6) and B(1, 3,4)
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1is False, Statement-2 is True.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cmW4psMrlM8t

13. Statement-1: The point A(1, O, 7) is the mirror image of the point B(1, 6,

z_y—l_z—2

3) in the line : 1 5~ 3 Statement-2 : The line

r y—-1 z-2 . L

1= "3 = 3 bisects the line segment joining A(1, O, 7) and B(1,
6, 3). Statement-1 is true, Statement-2 is true; Statement-2 is a correct

explanation for Statement-1. Statement-1 is true, Statement-2 is true;
Statement-2 is not a correct explanation for Statement-1. Statement-1 is
true, Statement-2 is false. Statement-1 is false, Statement-2 is true.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.
C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JJdc0fCO0T6F

14.The equations of two straight lines are

w—l_y+3_z—2 d
2~ 1 ~ —3 M _3 9

a:—2_y—1 z+3

Statement 1: The given lines are coplanar.

Statement 2: The equations

2r —s =1
r+3s=4
3r+2s =5

are consistent.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

| o Watch Video Solution


https://dl.doubtnut.com/l/_Xr5dEkdNIc4z

15. Given two straight lines whose equations are

x—3_y—5_z—7 dm+1_y+1 z+1
1 —2 71 MTwT T T T 1

Statement 1: The line of shortest distance between the given lines is
perpendicular to the plane z + 3y + 5z = 0.
Statement 2 : The direction ratios of the normal to the plane

b
ax + by + cz + d = 0 are proportonal to —, 7 %

ale

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Xr5dEkdNIc4z
https://dl.doubtnut.com/l/_Yf7tag8mUqP7

16. Statement 1: The shortest distance between the lines r_ il = %
z—1 y—1 z—1 )
and 5 = 5 =g S /2. Statement 2: The shortest distance

between two parallel lines is the perpendicular distance from any point
on one of the lines to the other line.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is not a
correct explanation for Statement-1.
C. Statement-1is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Yf7tag8mUqP7
https://dl.doubtnut.com/l/_mpxyqnGq2JJ0

1. The perpendicular distance from the origin to the plane through the

point (2,3,-1) and perpendicular to the vector 3i — 43' + Tk is

13
A- -
V74
~13
V74
C.13

D. none of these

Answer: A

o Watch Video Solution

2. The equation of the plane perpendicular to the line

m—l_y—2_z+1
1 -1 2

and passing through the point (2,3,1), is


https://dl.doubtnut.com/l/_0ARPV1byL9XR
https://dl.doubtnut.com/l/_i062cw1DeLaQ

D. none of these

Answer: B

° Watch Video Solution

3. The locus of a point which moves so that the difference of the squares

of its distances from two given points is constant, is a

A. straight line

B. plane

C.sphere

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_i062cw1DeLaQ
https://dl.doubtnut.com/l/_q0FjBWwil5DN

4. If the position vectors of the points A and B are 31+ 7+ 2k and
i — 23 — 4k respectively then the equation of the plane through B and
perpendicular to AB is

AT (2% 135+ 612:) — 28

B. 7. (2% 1354 612:) — 32

C. 7. (22 +33+61%) +28=0

D. none of these

Answer: C

o Watch Video Solution

5. The vector equation of the plane passing through the origin and the

%
line of intersection of the planes 7. d=Xand 7. b = Wis
_>
AT (,\ﬁ—ub> )

%
B. 7. ()\b —u7) =0


https://dl.doubtnut.com/l/_B55HA4Mc145e
https://dl.doubtnut.com/l/_MJ7tfej3NszN

Answer: B

o Watch Video Solution

6. The position vectors of points A and B are
i —j+ 3k and 3 + 35 — k respectively. The
. . = 2 A 2
equation of a planeis 7 - <5z + 25 — 7k) = 0The
poinys A and B
A.lie on the plane
B. are on the same side of the plane

C. are on the opposite side of the plane

D. none of these

Answer: C



https://dl.doubtnut.com/l/_MJ7tfej3NszN
https://dl.doubtnut.com/l/_YBLnchonvAPS

l @ yvatch video Solution ]

7. The vector equation of the plane through the point 2 — j — 4k and

parallel to the plane 7. (4% — 125 — 312:) —7=0,is

AT (4»2 — 195 - 31%) —0

32

B. 7. (4% _ 195 — 312:)
7. (4% — 125 - 3A) — 12

D. none of these

Answer: B

o Watch Video Solution

8. Find the vector equation to the plane through the point (2,1, — 1)
passing through the line of intersection of the planes

7. (%+33‘—l§:) — OadT . (3+21%)=0

AT (%+93+11ic) —0


https://dl.doubtnut.com/l/_YBLnchonvAPS
https://dl.doubtnut.com/l/_M77kUS03bv23
https://dl.doubtnut.com/l/_uQpOupeQjU42

@
i

;. (%+93+111§:)=6

N
ﬁ

;. (%—33—13]%):0

D. none of these

Answer: A

o Watch Video Solution

9. Equation of a plane passing through the intersection of the planes
7. (3% — 3 + l?:) =1 and 7 ('Z + 43 — 2]%) = 2 and passing through

the point <i + 27 — l:s) is :
AT (2% . 131%) —1
5. 7.

2% —7j - 131%) 1

0

7. (2% YT 131%)

D. none of these

Answer: B

[ - |


https://dl.doubtnut.com/l/_uQpOupeQjU42
https://dl.doubtnut.com/l/_NqH1wX7C06lm

| @J Watch Video Solution J

10. The vector equation of a plane which contains the line

ro=2i+ )\<3 — IAc) and perpendicular to the plane 7. (2 + lAs) =3is

AT (%—j—l%)zz
B.?.(%Jr}—ic)zz

. (%+3‘+ic) _9

D. none of these

Answer: A

o Watch Video Solution

. . I -
1. The equation of the plane contaiing the lines » = a1+ A b and

%
?:72+,Ub is

-


https://dl.doubtnut.com/l/_NqH1wX7C06lm
https://dl.doubtnut.com/l/_dO2l9Cu2aL14
https://dl.doubtnut.com/l/_r8yEmXZC2Ie2

N

1 G2
— (= = Y —
C.r.(a1+a2)xb:[72 71 b]

D. none of these

Answer: B

° Watch Video Solution

. . e Y
12. The equation of the plane contaiing the lines » = a1+ Ab and

%
7:32—|—ub|s

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_r8yEmXZC2Ie2
https://dl.doubtnut.com/l/_0GtUB2Fnu916

13. The vector parallel to the line of intersection of the planes
7. (3% —3’+l§:) —1and 7. (%+4§'—2l}:) — 2is :

A —2i + 77 + 13k

B.2: 4+ 77 — 13k

C.—21 —7j + 13k

D.2i + 77 + 13k

Answer: A

o Watch Video Solution

14. Find the vector equation of the plane in which the lines

?):%+3'+>\(%+23—1}> and ?:(%+3>+u(—%+3—2l%)

lie.


https://dl.doubtnut.com/l/_0GtUB2Fnu916
https://dl.doubtnut.com/l/_Sy5JVWzVXR9u
https://dl.doubtnut.com/l/_hUdgZPDAcCvB

0

B. 7. (z—j—k)

c.7. (%+3+I§:)

3

D. none of these

Answer: B

° Watch Video Solution

15. The Cartesian equation of the

)

—(1+A—pi+2=A+pi+(B-22+2u)kis

A2r +y=25
B.2r —y =25
C2x+z=25
D.2r —z =5
Answer: C

plane

° Watch Video Solution



https://dl.doubtnut.com/l/_hUdgZPDAcCvB
https://dl.doubtnut.com/l/_hJBqGOiEu9tc

16. The perpendicular distance between the line

r :2%—234—31}:%—)\(%—3—%4@) and the plane . (i 55

l?:):f)is

10

A ——
3v/3

;10
3

C.10/9

D. none of these

Answer: A

o Watch Video Solution

17. The vector equation of the line of intersection of the planes

7. (2%+3l§:) — 0and 7. (3%+23+12:) —0is

A.?:A(%+23+l§:)


https://dl.doubtnut.com/l/_hJBqGOiEu9tc
https://dl.doubtnut.com/l/_pNuZoiDFuSWa
https://dl.doubtnut.com/l/_g2Yl3bF5xcLm

B?:,\(%—23+31%)
c?:/\(%+23—3l%)

D. none of these

Answer: B

° Watch Video Solution

_>
I + A b meets the plane 7. = Oatp. Then

18. A straight line r

position vector of P is

=
b

—
n

C.a —
- =
b.n

D. none of these

Answer: C

I ° Watch Video Solution


https://dl.doubtnut.com/l/_g2Yl3bF5xcLm
https://dl.doubtnut.com/l/_RIL9mhKhqAPR

19. The equation of the plane passing through three non - collinear points

with positions vectors a,b,c, is

D. none of these

Answer: D

o Watch Video Solution

20. The length of the perpendicular from the origin to the plane passing

. e e
though three non-collinear points a, b, c is

—
a

=]

-
C

| —
| I—



https://dl.doubtnut.com/l/_RIL9mhKhqAPR
https://dl.doubtnut.com/l/_tsR0HBoCWjAq
https://dl.doubtnut.com/l/_eG8tIHdTxhm4

D. none of these

Answer: A

o Watch Video Solution

21. The equation of the plane containing the line

m—xl_y—y1_z—z1 is
l m n

a(z — 1) + by — y1) + c(z — z1) = 0, where az; + by; +cz; =0 b.

b
al+bm+cn:0c.g:—zﬁd.lw1+my1+nz1:0
l m n

A.aa:1+by1+cz1 =0
B.al+bm +cn =0
Ca/l=b/m=c/n

D.lxy + my1 + nz1 =0


https://dl.doubtnut.com/l/_eG8tIHdTxhm4
https://dl.doubtnut.com/l/_gwOXG2zo5Nqm

Answer: B

° Watch Video Solution

22. Find the shortest distance between the lines

r—1 y—2 z-3 dw—2_y—4_z—5
2 3 4 M3 T T4 T

A1/,/6

B.1/6
C.1/3

D.1/4/3

Answer: A

o Watch Video Solution

) z—1 y— 2 z—3 z—1 y—1 z—6
23.If the lines 5 T o~ 3 and % - 1 - s

are perpendicular, find the value of k.


https://dl.doubtnut.com/l/_gwOXG2zo5Nqm
https://dl.doubtnut.com/l/_jNJMbmP6YMj4
https://dl.doubtnut.com/l/_jzVarntjc0vs

A —7/10
B.—10/7
C.—10

D.10/7

Answer: B

o Watch Video Solution

24.The direction ratios of a normal to the plane passing throuhg (0,0,1) ,

(0,1,2) and (1,2,3) are proportional to

A.0,1,1

B. 1,0,-1

C.0,0,1

D. 1,0,1

Answer: A



https://dl.doubtnut.com/l/_jzVarntjc0vs
https://dl.doubtnut.com/l/_Zal9ObNf84W9

| o Watch Video Solution

25. A variable plane is at a distance k from the origin and meets the
coordinates axes is A,B,C. Then the locus of the centroid of AABC'is
Az 2ty 242 2=k?
Bz 24y 242 2=4k?
Cex 2+y 242 2%2=16k2

Dz 4y 2+22=9k?

Answer: D

° Watch Video Solution

26. Find the equation of the plane perpendicular to the line

CE—l_y—3_z—4
2 -1 2

and passing through the origin.

A2c —y+22—-7=0


https://dl.doubtnut.com/l/_Zal9ObNf84W9
https://dl.doubtnut.com/l/_hfP3XX3ixc6T
https://dl.doubtnut.com/l/_68bmOpIYoieM

B.2r +y+22=0

C2x —y+22=0

D.2x —y—2=20

Answer: C

° Watch Video Solution

27. Find the equation of the plane through the points (2,2,1) and (9,3,6)

and perpendicar — thepla # 2x+6y+6z=1

Adxz +4y+62=9

B.3x +4y —52+9=0

C3x+4y—52—-9=0

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_68bmOpIYoieM
https://dl.doubtnut.com/l/_1tiJTWCVTQ3E

28.The equation of the plane containing the two lines

m—l_y+1_z d:c_y—2_z+1.
2 -1 3T T3 T —_°"®

A8 +y—52—-T7T=0

B.8 +y+5z—7=0

C8 —y—5z—-7=0

D. none of these

Answer: A

o Watch Video Solution

29. The direction ratios of the normal to the plane passing through the

points (1, —2,3),(—1,2, —1) and paralle to the line

:v—2_y+1_z tional t
5 = 3 —4arepropor ional to

A2,3, 4


https://dl.doubtnut.com/l/_1tiJTWCVTQ3E
https://dl.doubtnut.com/l/_bSsx9zvDx74n
https://dl.doubtnut.com/l/_BGjbQnlRW2gW

B.4,0,7

C.—2,0, — 1

D.2,0, — 1

Answer: D

° Watch Video Solution

30. The equation of a plane through the point (2, 3,1) and (4, — 5, 3)

and parallel to x-axis

Ay—4z=1T7
B.y+4z2=7
C74+4z= —7
Dz +42=17
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BGjbQnlRW2gW
https://dl.doubtnut.com/l/_OMTNqs9zijnN

xz+4 y—3 z+ 2

31. The angle between the lines T =3 — 3 and

y—1 z .
= —F—— = —Is

xIr
3 -2
1

A.sin—

B.cos !

C. cosf1

ST =SS T OIS

D. none of these

Answer: C

o Watch Video Solution

32. The equation of the plane which is perpendicular bisector of the line

joining the points A(1, 2, 3) and B(3, 4, 5) is

Az+y+2=9

Brx+y+tz= —9


https://dl.doubtnut.com/l/_OMTNqs9zijnN
https://dl.doubtnut.com/l/_mM1Ci3moRdkS
https://dl.doubtnut.com/l/_XaU6EoXjEg2W

C2x3y+42=9

D.2z + 3y +4z= —9

Answer: A

° Watch Video Solution

33. If the position vectors of the points A and B are 3 + 5 + 2k and
P — 23’ — 4k respectively then the equation of the plane through B and
perpendicular to AB is

A2rx +3y+62+28=0

B.3z + 2y + 62 = 28

C2r —3y+62+28=0

D.3z — 2y + 6z = 28

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_XaU6EoXjEg2W
https://dl.doubtnut.com/l/_qXVYI9OIyYOk

Chapter Test

1. The length of the perpendicular from the origin to the plane passing

%
b —|—)\?is

through the points a and containing the line r

)

| I

[—> —
a C

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qXVYI9OIyYOk
https://dl.doubtnut.com/l/_LG5f6BfbStha

z—1 y—2 z+1

2. The value of A for which the lines T =% = 1 and
x+1 y+1 z—2 ) )
= = are perpendicular to each other is
—A 2 1
A.O0
B.1
C.-1

D. none of these

Answer: B

o Watch Video Solution

Tz +4 y—3 z+ 2

3. The angle between the lines T~ 3~ 3 and
x_y—l_zis

3 -2 1

-2 +1 —1 +5

mg :y_2,z:2andL:(2y+3).3:Z2 is

Am/2

B.m/3


https://dl.doubtnut.com/l/_iZGc5sOk0k2F
https://dl.doubtnut.com/l/_2ZddvpCTr0Du

C.7m/6

D. none of these

Answer: A

° Watch Video Solution

4.The direction cosines of the line6x — 2 =3y + 1 = 2z — 2 are

A 1 1 1

B 1 2 3
V1A V14 V14
c.1,2,3

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2ZddvpCTr0Du
https://dl.doubtnut.com/l/_d708QsyhS4cf

5. A line passes through two points A(2, — 3, — 1) and B(8, — 1, 2).
The coordinates of a point on this lie at distance of 14 units from a are

A (14,1,5)

B.(—10, —7,7)

C. (86, 25, 41)

D. none of these

Answer: A

o Watch Video Solution

6. The position vector of a point at a distance of 34/11 units from
i — _} + 2k on a line passing through the points i — 3 + 2k and parallel
to the vector 37 + 3 +kis

A. 107 + 27 — 5k

B.— 81 — 4] — k


https://dl.doubtnut.com/l/_02Eq7msQ2RVu
https://dl.doubtnut.com/l/_eatnEJDkX0rf

C8 +4j+k

D. — 107 — 2j — 5k

Answer: B

° Watch Video Solution

_)
7. The line joining the points 6a —4b +4?, —4¢ and the line

— —
joining the points 4 —2b — 3?, i +2b — 5¢ intersect at

A —4a

%
BAdgd — b — ¢

c.4c

D. none of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_eatnEJDkX0rf
https://dl.doubtnut.com/l/_qAGFaLfVzdZ8
https://dl.doubtnut.com/l/_HBoCk0MCvPgc

8. The image (or reflection) of the point (1,2-1) in the plane

7. (3%—53+4l§:) —5is

39
A (73/5, —6/4, —
(s s 2)

B.(73/25,6/5,39/25)

(-1, —21)

D. none of these

Answer: D

o Watch Video Solution

9. The equation of the plane through the line of intersection of the
planes ax + by +cz+d=0anda’x +b'y+ c'z+ d’ = 0 parallel to
theliney =0and 2z = 0is

A (ab’ —a’'b)x + (bc’ —b'c)y+ (ad” —a’'d) =0

B.(ab” —a’'b)z + (be’ —c’c)h + (ad’ —a’d)z =10


https://dl.doubtnut.com/l/_HBoCk0MCvPgc
https://dl.doubtnut.com/l/_CBBmB66KrBxc

C.(ab" —a'b)y+ (ac’ —a’'c)z+ (ad’ —a’'d) =0

D. none of these

Answer: C

° Watch Video Solution

10. Angle between the line 7 = (2% — 3 + IAc) + )\( — i+ 3 + I;:) and

the plane 7. (3% + 25 — I%) =4is

2
A.cos_1 e
42
-2
B. cos L —
42
2
C.sin ' —/—
42
-2
D.sin | ——
42
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_CBBmB66KrBxc
https://dl.doubtnut.com/l/_l6HCs26on9Vw
https://dl.doubtnut.com/l/_bqvP5BpPTDkj

1. The line through i +3j + 2k and perpendicular to the lines
— 2 A7 4 A7
r:<z+2]—k2)—|—)\<2z+j—|—k:> and
— 4 ~ 7 3 ~ 7.) ;

r :<2z+6]+k)—l—u<z+2j+3k) is
AT = (i4+2)— k) +A(— @ +5] - 3k)
B. 7 :%+3§‘+2l§:+>\(%—53+3k)

C.r :%+3§'+2l%+)\(%+53’+3l§;)

D.7 :%+33+212:+,\(—2—55—31%)

Answer: B

o Watch Video Solution

12. The distance from the point —1 —|—23’—}—6l§: to the straight line

through the point (2,3,-4) and parallel to the vector 61 + 33 — 4]2:, is

A7

B.10


https://dl.doubtnut.com/l/_bqvP5BpPTDkj
https://dl.doubtnut.com/l/_KWKya0hPpFcu

C.9

D. none of these

Answer: D

° Watch Video Solution

13. The position vector of the point in which the line joining the points
i — 27 + k and 3k — 27 cuts the plane through the origin and the points
43' and 27 + ks

A.5i — 10j + 3k

B. %(6% — 10 + 31%)

C.—6i + 105 — 3k

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KWKya0hPpFcu
https://dl.doubtnut.com/l/_F00oSvAfxLTD

T . N A — 7
14.Theton|nesr:a—i—)\<b><c>andr b +pu
< —
intersect at a point where A and p are scalars then (A) a
— - — - = 7 >
non coplanar (B)‘a( ‘b‘ ‘c( a.c = b.c

Processing Error]

A. X ¢ =b Xx e
- = 7 =
B.a.c =bb.c¢c
A T T
C.bxa=c¢c X a

D. none of these

Answer: B

(7 < 7)

—

%
, b, c are

(D) [Math

o Watch Video Solution

%

—

- = — =
15.Thelies r = a1+ Abiand r — a2+ pb 2 arecoplanarif

- = —
A a1 X asa=0


https://dl.doubtnut.com/l/_F00oSvAfxLTD
https://dl.doubtnut.com/l/_5Tuxkgq7pcug
https://dl.doubtnut.com/l/_Jyx76inlUE25

Answer: D

° Watch Video Solution

16. Equation of a line passing through ( — 1, 2,

totheplane2z + 3y +2+5=20is

z—1 y+2 z—3

|
Bw—|—1:y—2:z+3
T 1 1 1
cw+1:y—2:z+3
T2 3 1

D. none of these

Answer: C

— 3) and perpendicular

° Watch Video Solution



https://dl.doubtnut.com/l/_Jyx76inlUE25
https://dl.doubtnut.com/l/_HC2fnQWL60E4

17. Equation of a line passing through (1,-2,3) and parallel to the plane

2r +3y+ 2+ 5=20is

w—l_y+2 z—3

A 1 1
Bx—1:y+2:z—3
T2 3 1
Cm+1:y—2:z—3
T 1 1

D. none of these

Answer: A

o Watch Video Solution

18. The distance between the planes given by

7. (%+2§'—2l})+5:0and7. (%+23—212:)—8:0is

A.1unit

B. — units


https://dl.doubtnut.com/l/_HC2fnQWL60E4
https://dl.doubtnut.com/l/_7ApHr8Zn4La5
https://dl.doubtnut.com/l/_SOyAECOp7Vuh

C. 13 units

D. none of these

Answer: B

° Watch Video Solution

19. Find shortest distance between the line

g (52+73+31%) +>\(5%—6§'+21}) and 7 = (9%+133+15ic) +
A. 10 units
B. 12 units
C. 14 units

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SOyAECOp7Vuh
https://dl.doubtnut.com/l/_3Xt1N9ZpUIZh
https://dl.doubtnut.com/l/_fZpHlJhuwF1S

20. Find the shortest distance between the lines

7= (G2 k) A (2 =2k) and ¥ =20 -Gk p(2i+]

A.0
B.,/101/3
c.101/3

D. none of these

Answer: B

o Watch Video Solution

21. Find the equation of the plane through the points (2,2,1) and (9,3,6)

and perpendicar — thepla # 2x+6y+6z=1

Adx +4y+5z=9

B.3x +4y — 5z =9


https://dl.doubtnut.com/l/_fZpHlJhuwF1S
https://dl.doubtnut.com/l/_Vz6qZQOszKXt

C3x+4y—52—-9=0

D. none of these

Answer: B

° Watch Video Solution

22.The equation of the plane containing the line

?:%+3‘+/\(22+3+4ie) is

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Vz6qZQOszKXt
https://dl.doubtnut.com/l/_s3Kqzxan8Uhj
https://dl.doubtnut.com/l/_88BDbrgrmfYK

23.Find ten equation of the plane passing through the point (0,7, — 7)
r+1 y-— 3 z+2

-3 2 1

and containing the line

Az+y+z=1

Bz t+ty+2=2

Cxz+y+2z=0

D. none of these

Answer: C

o Watch Video Solution

24. Equation of the plane passing through the point (1,,1) and
perpendicular to each of the planesz +2y+32=7 and
2¢ — 3y + 4z = 0lis

AlTx —2y+ 7z =12

B.17x + 2y — 7z = 12


https://dl.doubtnut.com/l/_88BDbrgrmfYK
https://dl.doubtnut.com/l/_l7DPHzNu7zjY

Cl7x + 2y + 72z = 12

D.17x — 2y — Tz = 12

Answer: B

° Watch Video Solution

25. A variable plane at constant distance p form the origin meets the
coordinate axes at P,Q, and R. Find the locus of the point of intersection

of planes drawn through P,Q, r and parallel to the coordinate planes.

a b c
A—+—+4+—=1
T z

<

B.ar +by+cz=1

a b ¢
C—+—+—= -1
x Yy oz
D.ax +by+cz= —1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_l7DPHzNu7zjY
https://dl.doubtnut.com/l/_hoYXfoqPLAK1

26.The equation of the line of intersection of the planes * + 2y + z = 3

and 6z + 8y + 3z = 13 can be written as

A1—2x:4yi5:—z
"4 12 4
Bw—2:y+1:z—3
2 3 4
C:z:+2:y—1:z—3
T2 -3 4
D:L'—I—2:y+2:z—3
2 3 4
Answer: A

o Watch Video Solution

27.Find the Cartesian from the equation of the plane

T = (s—20)i+(3—t)j+ (25 + t)k.

A2c —5y—2—-15=0

B.2z —by+2—-15=0


https://dl.doubtnut.com/l/_hoYXfoqPLAK1
https://dl.doubtnut.com/l/_0IdGhAfHmjGo
https://dl.doubtnut.com/l/_71hwi3PB9xpm

C2z —5y—2z+15=0

D.2z +5y— 24+ 15=0

Answer: C

° Watch Video Solution

28. If the planes ?) (2;, — )\3 + 3]2:) =0 and 7 ()\; + 53' — l?:) =5
are perpendicular to each other then value of A + X is

A.O

B.2

C.3

D.1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_71hwi3PB9xpm
https://dl.doubtnut.com/l/_wf9RqwHtVhxv
https://dl.doubtnut.com/l/_LPhGHZEb1qZ3

29. The equation of the plane perpendicular to the line

z—1 y— 2 z+1 . . .
T =1 T3 and passing through the point (2,3,1), is

cr.(i—j+2%)="7
D.7. (i + 7 - 2k) = 10

Answer: B

o Watch Video Solution

30. Find the equation of a plane which passes through the point (3, 2, 0)
r—3 Y- 6 z—4

1 5 4

and contains the line

Ax—y+z=1

Bz +y+2=5

Cx+2y—2=0


https://dl.doubtnut.com/l/_LPhGHZEb1qZ3
https://dl.doubtnut.com/l/_jIn6PP8wRyeY

D.2z —y+2=25

Answer: A

° Watch Video Solution

31. Determine the point in XY-plane which is equidistant from thee points
A(2,0,3), B(0, 3,2)andC(0, 0, 1).

A.(1,2,3)

B. (-3,2,0)

C.(3,2,0)

D. (3,2,0)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_jIn6PP8wRyeY
https://dl.doubtnut.com/l/_QRIhsPTgPGRl

